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QUESTION 1

You have a single node Cloud Volumes ONTAP (CVO) system in AWS. 

In this scenario, which two activities will cause system downtime? (Choose two.) 

A. Change the disk type of a volume from HDD (st1) to SSD (gp2). 

B. Change the Cloud Volumes ONTAP EC2 instance type. 

C. Upgrade the Cloud Volumes ONTAP system software. 

D. Apply a new Cloud Volumes ONTAP license. 

Correct Answer: CD 

 

QUESTION 2

Your customer is running their Kafka and Spark applications inside a Kubernetes cluster. They want to create a single
backup policy within Astra to automate the backup of both applications and all their related Kubernetes objects at the
same time. 

Which method in Kubernetes should be used to accomplish this task? 

A. Create a Helm chart that deploys Kafka and Spark and their related objects to multiple namespaces. 

B. Put the applications and their objects in a single namespace, or label all the objects with a single label that Astra can
recognize. 

C. Create a Kubernetes custom resource definition that includes all of the objects that Astra needs to treat as a single
entity. 

D. Use a single Trident-based StorageClass to provision all storage for Kafka and Spark. 

Correct Answer: C 

 

QUESTION 3

A team compiles a group of artifacts locally. The team decides to allow an automatic process to deploy the compiled
artifacts to a production server. 

In this scenario, which step was skipped in the DevOps process? 

A. continuous builds 

B. continuous delivery 

C. continuous integration 

D. continuous deployment 
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Correct Answer: C 

 

QUESTION 4

You are deploying persistent storage for Kubernetes with NetApp Trident. 

In this scenario, what are the two objects that you must create? (Choose two.) 

A. Trident virtual storage pool 

B. Trident backend 

C. Kubemetes StorageCIass 

D. Trident volume 

Correct Answer: BD 

 

QUESTION 5

What are two stages in the DevOps lifecycle? (Choose two.) 

A. plan 

B. architect 

C. operate 

D. destroy 

Correct Answer: CD 

 

QUESTION 6

You configured your NetApp Cloud Volumes ONTAP instance to protect your data against ransomware. A previously
unknown ransomware file extension infects your data. 

In this scenario, which two NetApp technologies will provide a writable volume of the dataset before the ransomware
attack? (Choose two.) 

A. FPolicy 

B. SnapRestore 

C. FlexCache 

D. FlexClone 

Correct Answer: BC 
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QUESTION 7

You are asked to provision storage for a development team to make use of NetApp Trident in their Kubernetes
environment. You want to ensure that Trident will not be able to exhaust the storage system resources. 

In this scenario, which two actions would you take to satisfy the requirements? (Choose two.) 

A. Limit the maximum volume count. 

B. Limit the available data LIFs. 

C. Use a shared SVM. 

D. Limit the maximum volume size. 

Correct Answer: A 

 

QUESTION 8

Your company uses all four of NetApp\\'s storage offerings: ONTAP, StorageGRID, Element, and E-Series. You are
asked to provide persistent storage to the OpenShift group by using NFS. 

In this scenario, which of the available storage deployments would provide access? 

A. StorageGRID 

B. ONTAP Select 

C. E-Series 

D. Element 

Correct Answer: C 

 

QUESTION 9

You are using REST APIs to deploy and manage storage that is provided by NetApp Cloud Volumes ONTAP in
Microsoft Azure. You are a federated user, and you want to communicate with an authenticated endpoint. In this
scenario, how should you acquire the JWT access token? 

A. Use the API key generator. 

B. Use a JWT access token generator. 

C. Use the refresh token generator. 

D. Use an e-mail address and password 

Correct Answer: A 

 

QUESTION 10
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A customer was running a traditional application with the data being provided by an NetApp ONTAP NFSv3 export. The
customer is now migrating that same application to run with a container in a Kubernetes environment using NetApp
Trident. 

In this scenario, how would the customer ensure that the new container-based application has access to the same
data? 

A. Use the rsync command to copy the data to a worker node in the Kubernetes cluster and allow the kubelet to auto-
discover the storage for the container. 

B. Import the volume using the tridentcti command and provide the corresponding persistent volume claim YAML. 

C. Define a backend YAML in Trident and use the kubectl command to create the backend in the Trident namespace. 

D. Define the connection information for the NFSv3 export in the storage class object and then reference the storage
class in the persistent volume claim. 

Correct Answer: D 
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